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Certificate of Passing
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We certfy that the tool has been passed by SK inspection standard.
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Rust and abrasion of the level might cause the bad accuracy.
Clean and put some anti-rust oil on the measuring surface after you use.
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Instruction manual of adjust zero point.
It is required initial setting adust Zero Point before using.
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FHK#ESR  Precision flat level

TH7K#E88  Cross-test precision levei(T-type)

AN FRk#S:  Adjustable bench level
R—2TIVLANJL Portable level

ARIKESR  Precision sQuare lenel
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OFRAEDLBEEE £2.0 BEUN
Allowable error of main bubble. All wange +2.0 scale or less.
QEEOFEE 0.01mm LA

Flatness bottom surface 0.01mm or less.

OFTABOLEEHE 2.0 BEUA
Allowable error of main bubble. All ranege +2.0 scale or less.
@OEEXRCAE. FEOTFEE 0.01Tmm YA

Flatness bottom top and side surface  0.0Tmm or less.

OERsAAEOEAE 0.0TmmbA

Squareness bottom to side surface  0.01Tmm or less.
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/ Put the level on the horizontal plane and check

F&a FAERL
Main bubble  Adjustment screw

1 DIVISION 0.02 mmvim the position of the main bubble.
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Turn sround the level and check rhe position of
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the main bubble.
1av L=l Zero Point adjustment will be completed when
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the main bubbles located the same posituin as (.
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Adjustment screw
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Whwn the main bubble is not located the same
position as @, adjust the srew with a hex wrench.

For example, move the main buble 0.5
graduation when ther is 1 graduation gap.
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Visit our webseite for more information.



